
CHEMISTRY

BOOKS - DISHA CHEMISTRY (HINGLISH)

COORDINATION COMPOUNDS

Mcq

1. The compounds 

constitutes a pair of

A. coordination isomers

B. linkage isomers

C. ionization isomers

D. optical isomers

[PtCl2(NH3)4)]Br2 and [PtBr2(NH3)4]Cl2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mNbcL5XcUnTy


Answer: C

View Text Solution

2. Which of the following species is not expected to be a ligand?

A. 

B. 

C. 

D. both (a) and (b)

Answer: B

View Text Solution

NO

NO
+
4

NH2CH2CH2NH2

https://dl.doubtnut.com/l/_mNbcL5XcUnTy
https://dl.doubtnut.com/l/_zSSpRPg33vVH


3. In which of the following complexes of the Co (At. no. 27), will the

magnitude of  be the highest ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Δa

[Co(CN)6]
3 −

[Co(C2O4)3]
3 −

[Co(H2O)6]
3 +

[Co(NH3)6]
3 +

4. Which of the following carbonyls will have the strongest C-O

bond ?

A. Mn(CO) +
6

https://dl.doubtnut.com/l/_eOqF5yurJygc
https://dl.doubtnut.com/l/_qiG1Z9keV9y6


B. 

C. 

D. 

Answer: A

View Text Solution

Cr(CO)6

V (CO) −
6

Fe(CO)5

5. A square planar complex is formed by hybridisation of which

atomic orbitals?

A. 

B. 

C. 

D. 

Answer: B

s, px, py, dyz

s, px, py, dx2 −y2

s, px, py, dz2

s, py, pz, dxy

https://dl.doubtnut.com/l/_qiG1Z9keV9y6
https://dl.doubtnut.com/l/_d1CIn0pILj7R


View Text Solution

6. The type of isomerism present in Pentamminenitrochromium (IU)

chloride is

A. optical

B. linkage isomers

C. ionisation

D. polymerisation

Answer: B

View Text Solution

7. In the silver plating of copper,  is used instead of 

. The reason is

K[Ag(CN)2]

AgNO3

https://dl.doubtnut.com/l/_d1CIn0pILj7R
https://dl.doubtnut.com/l/_zp8PrHEeko17
https://dl.doubtnut.com/l/_hi39LxvkGEkZ


A. a thin layer of Ag is formed on Cu

B. more voltage is required

C.  ions are completely removed from solution

D. less avalability of  ions, as Cu cannot displace Ag, from 

 ion.

Answer: D

View Text Solution

Ag+

Ag+

[Ag(CN)2]
−

8. The spin only magnetic moment value (in Bohr magneton units)

of  is

A. 0

B. 2.84

C. 4.9

Cr(CO)6

https://dl.doubtnut.com/l/_hi39LxvkGEkZ
https://dl.doubtnut.com/l/_GudJLLNGlKqq


D. 5.92

Answer: A

View Text Solution

9. Low spin complex of -cation in an octahedral field will have the

following energy:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

d6

Δ0 + P
−12

5

Δ0 + 3P
−12

5

Δ0 + 2P
−2

5

Δ0 + P
−2

5

https://dl.doubtnut.com/l/_GudJLLNGlKqq
https://dl.doubtnut.com/l/_osfs3B0OkpdZ
https://dl.doubtnut.com/l/_VCVLMfJNHVTJ


10. An example of double salt is

A. Bleaching powder

B. 

C. Hypo

D. Potash alum

Answer: D

View Text Solution

K4[Fe(CN)6]

11. The ionisation isomer of  is

A. 

B. 

C. 

[Cr(H2O)4Cl(NO2)]Cl

Cr(H2O)4(O2N)]Cl2

[Cr(H2O)4Cl2](NO2)

[Cr(H2O)4Cl(ONO)]Cl

https://dl.doubtnut.com/l/_VCVLMfJNHVTJ
https://dl.doubtnut.com/l/_cxSEsoGNisQu


D. 

Answer: B

View Text Solution

[Cr(H2O)4Cl2(NO2)]H2O

12.  exhibits.

A. linkage isomerism, ionization isomerism and geometrical

isomerism

B. ionization isomerism, geometrical isomerism and optical

isomerism

C. linkage isomerism, geometrical isomerism and optical

isomerism

D. linkage isomerism, ionization isomerism and optical

isomerism

[Co(NH3)4(NO2)2]Cl

https://dl.doubtnut.com/l/_cxSEsoGNisQu
https://dl.doubtnut.com/l/_USRTLI9zP4ZV


Answer: A

View Text Solution

13. The IUPAC name of  is

A. potassimn trioxalatoiridium (III)

B. potassimn trioxalatoiridate (ill)

C. potassium tris (oxalato) iridium (III)

D. potassium tris ( oxalato) iridate (III)

Answer: B

View Text Solution

K3[Ir(C2O4)3]

https://dl.doubtnut.com/l/_USRTLI9zP4ZV
https://dl.doubtnut.com/l/_lIdWT52sRhcW


14. Consider the following complex . The

coordination number, oxidation number, number of d-electrons

and number of unpaired d-electrons on the metal are respectively.

A. 6,3,6,0

B. 7,2,7,1

C. 7,1,6,4

D. 6,2,7,3

Answer: A

View Text Solution

[Co(NH3)5, CO3]CiO4

15. Which of the following species represent the example of -

hybridisation?

A. 

dsp2

[Fe(CN)6]
3 −

https://dl.doubtnut.com/l/_cbWfxwN2eNwP
https://dl.doubtnut.com/l/_WK1hbaGCqffL


B. 

C. 

D. 

Answer: B

View Text Solution

[Ni(CN)4]
2 −

[Ag(CN)2]
−

[Co(CN)6]
3 −

16. When  is added to a solution of , the

precipitate of AgCl shows two ionisable chloride ions. This means:

A. Two chlorine atoms satisfy primary valency and one

secondary valency

B. One chlorine atom satisfies primary as well as secondary

valency

C. Three chlorine atoms satisfy primary valency

AgNO3 Co(NH3)5Cl3

https://dl.doubtnut.com/l/_WK1hbaGCqffL
https://dl.doubtnut.com/l/_KUquwuop2DXK


D. Three chlorine atoms satisfy secondary valency

Answer: A

View Text Solution

17. The value of the 'spin only' magnetic moment for one of the

following configurations is 2.82 B.M. The correct one is

A.  (in strong ligand field)

B.  (in weak as well as in storng fields)

C.  (in weak ligand fields)

D.  (in storng ligand fields)

Answer: D

View Text Solution

d5

d3

d4

d4

https://dl.doubtnut.com/l/_KUquwuop2DXK
https://dl.doubtnut.com/l/_gt5olDwtPvQy
https://dl.doubtnut.com/l/_XKY93WF9DqXE


18. Consider the following complex ions, P, Q and R. 

The correct order of the complex ions, according to their
spin-only

magnetic moment values (in B.M.) is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

P = [FeF6[ ^ (3 − ), Q = [V (H2O)6]
2 +

and R = [Fe(H2O)6]
2 +

R < Q < P

Q < R < P

R < P < Q

Q < P < R

19. Which of the following is organo-metallic compOlmd ?

A. Ti(C2H4)4

https://dl.doubtnut.com/l/_XKY93WF9DqXE
https://dl.doubtnut.com/l/_hAvEsH6h0rv0


B. 

C. 

D. 

Answer: A

View Text Solution

Ti(OC2H5)4

Ti(OCOCH3)4

Ti(OC6H5)4

20. Which of the following statements is correct ? (Atomic number

ofNi = 28)

A.  is diamagnetic and 

are paramagnetic.

B.  are diamagnetic and 

 is paramagnetic

Ni(CO) [NiCl4]2 − and [Ni(CN)4]
2 −

Ni(CO)4 and [Ni(CN)4]
2 −

[NiCl4]2 −

https://dl.doubtnut.com/l/_hAvEsH6h0rv0
https://dl.doubtnut.com/l/_C2BLHjfmGD7J


C.  are diamagnetic and 

 is paramagnetic

D.  are diamagnetic and 

 is paramagnetic.

Answer: B

View Text Solution

Ni(CO)4 and [NiCl4]2 −

[Ni(CN)4]
2 −

[NiCl4]2 − and [Ni(CN)4]
2 −

Ni(CO)4

21. The correct order for the wavelength of absorption in the 27.

visible region is :

A. 

B. 

C. 

D. 

[Ni(NO2)6]
4 −

< [Ni(NH3)6]
2 +

< [Ni(H2O)6]
2 +

[Ni(NO2)6]
4 −

< [Ni(H2O)6]
2 +

< [Ni(NH3)6]
3 +

[Ni(H2O)6]
2 +

< [Ni(NH3)6]
2 +

< [Ni(NO2)6]
4 −

[Ni(NH3)6]
2 +

< [Ni(H2O)6]
2 +

< [Ni(NO2)6]
4 −

https://dl.doubtnut.com/l/_C2BLHjfmGD7J
https://dl.doubtnut.com/l/_0RRNM5EyKKwK


Answer: A

View Text Solution

22. The copounds which is not coloured is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

K4Fe(CN)6

K3Fe(CN)6

Na2CdCl4

Na2CuCl4

23. Which is not -bonded complex?π

https://dl.doubtnut.com/l/_0RRNM5EyKKwK
https://dl.doubtnut.com/l/_NqLYe2cyW2op
https://dl.doubtnut.com/l/_m4Uvgw5DRGAH


A. Zeisc's salt

B. Ferrocene

C. Dibenzene chromium

D. Tetraethyl lead

Answer: D

View Text Solution

24. Which of the following are inner orbital complex (i.e., involving

 hybridisation) and is paramangetic in nature?

A. 

B. 

C. 

D. 

d2sp3

[Mn(CN)6]
3 −

, [Fe(CN)6]
3 −

, [Co(C2O4)3]
3 −

[MnCl6]3 − , [FeF6]3 − , [CoF6]3 −

[Mn(CN)6]
3 −

, [Fe(CN)6]
3 −

[MnCl6]3 − , [Fe(CN)6]
3 −

, [Co(C2O4)3]
3 −

https://dl.doubtnut.com/l/_m4Uvgw5DRGAH
https://dl.doubtnut.com/l/_P8cViETsQq84


Answer: C

View Text Solution

25. Give name ofthe complex, name should specify the position of

ligands. 

A. bistransphosphinecarbonylchloroiridium (II)

B. carbonylchlorobistransphosphineiridium (Ill)

C. carbonylchlorobistransphosphineiridium (I)

D. chlorocarbonylbistransphosphineiridium (I)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_P8cViETsQq84
https://dl.doubtnut.com/l/_lw2lW5DacjQg
https://dl.doubtnut.com/l/_ef6ALgKJRPYp


26. Which of the following coordination compotmds would exhibit

optical isomerism?

A. pentamminenitrocobalt(Ill) iodide

B. diamminedichloroplatimun(ll)

C. trans-dicyanobis (ethylenediamine) chromium (III) chloride

D. tris-(ethylendiamine) cobalt (Ili) bromide

Answer: D

View Text Solution

27. An excess of  is added to 100 mL of a 0.01 M solution of

dichlorotetraaquachromium (iii) chloride. The number of moles of

AgCl precipitated would be

A. 0.002

AgNO3

https://dl.doubtnut.com/l/_ef6ALgKJRPYp
https://dl.doubtnut.com/l/_ZAeppbiRueHT


B. 0.003

C. 0.01

D. 0.01

Answer: D

View Text Solution

28. The most stable complex among the following

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

K3[Al(C3O4)3]

[Pt(en)2]Cl

[Ag(NH3)2]Cl

K2[Ni(EDTA)]

https://dl.doubtnut.com/l/_ZAeppbiRueHT
https://dl.doubtnut.com/l/_TTjf5HrTNhgG


View Text Solution

29. Which one of the following bas largest number of isomers ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

[IR(PR3)2H(CO)]
2 +

[Co(NH3)5Cl]
2 +

[Ru(NH3)4Cl2]
+

[Co(en)2Cl2]
+

30. Which of the following statements related to crystal field

splitting in octahedral coordination entities is incorrect?

https://dl.doubtnut.com/l/_TTjf5HrTNhgG
https://dl.doubtnut.com/l/_PkTANxp9VsRY
https://dl.doubtnut.com/l/_3hZhQiZmAADz


A. The  orbitals has more energy is compared

to  orbitals.

B. Crystal field splitting energy  depends directly on the

charge of the metal ion and on the field produced by the

ligand.

C. In the presence of  as a ligand the distribution of

electrons for  configuration will be ,

D. In the presence of  as a ligand .

Answer: D

View Text Solution

d2
x − d2

y and d2
z

dxy, dyz and dxy

(Δa)

Br−

d4 t3
2g, e1

g

CN − Δ ∘ < P

31. Calculate the value of log  when log values of 

 respectively are 2.0, 3.20, 4.0 and 11.9 ?

K3

K2, K1, K4 and K4

https://dl.doubtnut.com/l/_3hZhQiZmAADz
https://dl.doubtnut.com/l/_1sO3xcgAx56r


A. 

B. 2.7

C. 3

D. 2.5

Answer: B

View Text Solution

2.0

32. Which of the following does not have a metal-carbon bond?

A. 

B. 

C. 

D. 

Al(CO2H5)3

C2H5MgBr

K[Pt(C2H4)Cl3]

Ni(CO)4

https://dl.doubtnut.com/l/_1sO3xcgAx56r
https://dl.doubtnut.com/l/_h8g1GGdLjoSM


Answer: A

View Text Solution

33. In , the Fe-C bond possesses

A. ionic character

B. -character only

C. -character

D. both  character

Answer: D

View Text Solution

Fe(CO)5

σ

π

σ and π

34. The geometry of  and  areNi(CO)4 Ni(PPh3)2Cl2

https://dl.doubtnut.com/l/_h8g1GGdLjoSM
https://dl.doubtnut.com/l/_XbkMyqnGL7wO
https://dl.doubtnut.com/l/_yLbndm07dyrQ


A. both squar eplanar

B. tetrahedral and square planar

C. both tetrahedral

D. none of these

Answer: C

View Text Solution

35. The crystal field splitting energy for octahedral 

tetrahedral  complexes is related as

A. 

B. 

C. 

D. 

(Δ0) and

(Δ1)

Δt = − Δ0

1

2

Δt = − Δ0
4

9

Δt = − Δ0

3

5

Δt = − Δ0

2

5

https://dl.doubtnut.com/l/_yLbndm07dyrQ
https://dl.doubtnut.com/l/_z9JLu771pnMq


Answer: B

View Text Solution

36. Match the columns 

A. A-VI,B-VI,C-I :D-II, E-III

B. A-II, B-IV, C-I, D-VI, E-III

C. A-II: B-IV, C-I, D-VI, E-V

D. A-VI, B-IV, C-I, D-II, E-V

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_z9JLu771pnMq
https://dl.doubtnut.com/l/_c0DQHEwUxN5e


37. If magnetic moment of  is 5.9 BM. Predict the

number of electrons?

A. 2

B. 3

C. 6

D. 5

Answer: D

View Text Solution

[MnBr4]2 −

38. The correct stucture of ethylenediaminetetraacetic acid (EDTA)

is

A. 

https://dl.doubtnut.com/l/_Ft1Qv8XUCiaG
https://dl.doubtnut.com/l/_G9b2qjf5a5Td


B. 

C. 

D. 

Answer: C

View Text Solution

39. The hypothetical complex chloro-diaquatriamminecobalt (III)

chloride can be represented as

A. 

B. 

C. 

D. 

Answer: A

[CoCl(NH3)3(H2O)2]Cl2

[Co(NH3)3(H2O)Cl3]

[Co(NH3)3(H2O)2Cl]

[Co(NH3)3(H2O)3]Cl3

https://dl.doubtnut.com/l/_G9b2qjf5a5Td
https://dl.doubtnut.com/l/_3Zz4wF8JMnJ8


View Text Solution

40. Which of the following is incorrect regarding spectrochemical

series?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

NH3 > H2O

F − > C2O
2 −
4

NCS − > SCN

cn > EDTA4 −

41. Which of the following is the limitation of crystal field theory?

(i) Ligands are assumed as point charges. (ii) It does not accounts

https://dl.doubtnut.com/l/_3Zz4wF8JMnJ8
https://dl.doubtnut.com/l/_0A4nQYu0wa3Y
https://dl.doubtnut.com/l/_khiStI74lgzF


for the covalent character of bonding between the ligand and the

central atom. (iii) It does not explain how colour of coordination

compounds depends on ligand attached to central metal atom/ion

A. (i) and (ii)

B. (ii) and (iii)

C. (ii) only

D. (i), (ii) and (iii)

Answer: A

View Text Solution

42. For , what is the toal number of metal-carbon

bonds and number of metal-metal bonds.

A. 10,1

[Co2(CO)8]

https://dl.doubtnut.com/l/_khiStI74lgzF
https://dl.doubtnut.com/l/_NE4yM0C12eVI


B. 8,2

C. 8,1

D. 10,0

Answer: A

View Text Solution

43. Which will give a white precipitate with AgN03 in aqueous

solution

A. 

B. 

C. 

D. 

Answer: B

[Co(NH3)5Cl](NO2)2

[Pt(NH3)6]Cl4

[Pt(en)Cl2]

[Cu(NH3)4]SO4

https://dl.doubtnut.com/l/_NE4yM0C12eVI
https://dl.doubtnut.com/l/_avMdH79EZ3LN


View Text Solution

44.  exibits temperature dependent

magnetic behaviour (paramagnetic/diamangetic). The coordination

geometries of  in the paramagnetic and diamagnetic states

are respectively

A. tetrahedral and tetrahedral

B. square planar and square planar

C. tetrahedral and square planar

D. square planar and tetrahedral

Answer: C

View Text Solution

[NiCl2{P (C2H5)2(C6H5)]
2
]

Ni2 +

https://dl.doubtnut.com/l/_avMdH79EZ3LN
https://dl.doubtnut.com/l/_y9i9FsBTcTZF


45. Which one of the following coordination compounds is used to

inhibit the growth oftumours?

A. Trans-platin

B. EDTA complex of calcium

C. 

D. Cis-platin

Answer: D

View Text Solution

[(Ph3P )3RbCl]

https://dl.doubtnut.com/l/_CyHEGQXqoFhW

